24. Mr. Raj’s previous year gross total income is Rs. 5,00,000. He

has made the following donations. Calculate the net income.

(a) .

(b)
()
(d)
(e)
®
(®

H®.

Rs:
National foundation for communal harmony 10,000
Natiohal children’s fund ok 20,000
Ngtional defence fund 25,000
Africa fund 15,000
Jawaharlal Nehru memorial fund 12,000
Indira Gandhi memorial fund 14,000

8,000

Rajiv Gandhi foundation

gy eTenUeUTEET  (phsw  eTH GrEs  -euHLOTETD

. 5,00,000. sjeuir GQeneumd parQsTa_smer efiggiarenmi. Hlay
au(pLrangSlanens senrésl(Hs.

(1)
(<)
Q)
(F)
(2)
()

(e1)

.

Cgélwu Qung mem @bmiEL FMo evgruaSHHE 10,060
Csflw Gubmsaar Flf 20,000
CsHw smiy Hi 25,000
Ufl&s B \ 15,000
euaniand Coep @ruas Aararsdlen B 12,000
@iy snH @rrua;#‘élsinmé,g]eh i3 14,000
grageu &MHe HD GVSMUIGILD 8,000
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PART A — (10 x 2 = 20 marks)
Answer any TEN questions. |
1. What is a Previous year?
WPHSW 26T TDTEDd cremmen?
2.  Define Agricultural income.

‘CeuemmeRTanin GU(HLOMEILD’ — GUETLIMISSE.

3. What is Residential status?
G ullmuy flene eremmed eredten?

4. What is Dearness allowance?

SisedlaneLILIlg GTEITMITE) Grebmes?

E:J‘I

What is a Gratuity?

uafl&EQaTanL GTemTed eTawmen ?

6. State any four payments allowed U/S 80 C.

Qfley 80 C-é aiguodaatiu@bd Aegigposdt gCa@IDd Hrandaman
GBS, o

7. What is Annual value?

‘@[ Sl ereLg) wimg)?
8.  State any two exempted house properties.

cufleflevsdln@EL L eﬁl'_(a'é? Qarsg1586T OISR G)TeTiq N Fafm)s.
9. Explain Vocation.

. SmbuL QAzmfd - elearéEs.

10. Define Profeasion.

Qample — @ev&aHemID samis.

]

) Ce

4

B.om AJF. ‘Inwme Tax Low ad e

W



~ What do you mean by Self-assessment? 23. From the following Income and Expenditure account calculate,

st IS LR wirg) syBlesi? : income from ' profession of Ramana & Co., Chartered
Accountants.
Expand PAN. _ Expenditure Rs. Incomes Rs.
PAN - affleurées. Charity and donations 1,00,000 Audit fees 3,00,000
PART B — (5 x 5 = 25 marks) Subscription to journal 2,000 Examiner fee 25,000
Institute fee 4,000 Fee for oth
Answer any FIVE questions. , . : e .
Office rent 5,000 accounts work -40,000
Wh-at are the differences between Capital receipt and Revenue - Drawings 50,000 Dividend from UTI 35,000
9 .
receipt! Electricity bill 9,000
Wpadlar QUnFMEESLD, euhHeumuiler. QLIQLQSQJGS@LD o _eiter Gmgurr@a;m g
Salary to trainee 20,000
wreneu?
. Net income 2,10,000
Ms. Viji joined her job on 1.7.2010, on a salary of Rs. 20,000 p.m. 4,00,000 4,00,000

She resigned her job on 15.11.2010 and got relieved on
30.11.2010 and started her own business on 15.12.2010 and
earned a profit of Rs. 60,000 upto 31.03.2011. Find out her
Taxable income.

Rs. 5,000 can be claimed as deprecmtlon for office assets as per
LT. provision.

SpsHTL curay G&G\)Gq SMEES 6 gewrt & Camr-elenr Qgmden
eflef) eraLeuT lompE sbuetid . 20,000-6@ 1.7.2010 ey uanflufed i 5! 21

Coipgni. SiL@NGGHE 15.11.2010-6 cfad, 30.11.2010. sy UGG DTLDES

15.

LIgWIMT&eD (FDUGTSSIL 6T dnlqwig)) Qudm eupbSmiT.
aflelHLdnENu vallstaram_amiu samadHa.
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aPeRsasr i LT, SiBen ﬂm@ 15.12.2010 <&y Q&rr;r,g, Qgmfed Geoaysdr . . QU (hLOMGOTThI&6IT (®-
Qpm_miél g eped 31.03.2011-1b prer eueny Garub . 60,000 B, peandaraLgsear  1,00,000 seaufléens s amid . 8,00,000
P it aufl NHLNADGNW eupidreanSHenet sl (. A
TR I Audbe G B O GBS EHESTET FHSIT 2,000 ufGengat s _L_ewrbd 25,000
Mr. Suresh an employee of MN Ltd.; received Rs. 68,000 as Himieuar s L ewrid | 4,000 s Gouamavd@L Lt L
-gratuity. He is covered by the payment of Gratuity Act 1972. He i h . i
retired on 15t July 2015 after rendering service of 36 years and Tl S 5,000 &L ewnd 40,000
9 months. At the time' of retirement his monthly basic salary Qarpg QFwey 50,000 UTI-ew eomruitd 35,000
was Rs. 3,200 and DA (forming part) was Rs. 1,000 respectively. ) .
Calculate the exempted gratuity. BleiizmyD GgiTens: 9,000
Hm. &Cyey eremiauir MN oU. vesflufdprr. wieuir 5. 68,000 Luipd Qugiieufir
uefls@arewrs Gupprt. Sipfpeuend, uaisdsrar Asgissisd FDLI6TD 20,000
sl 1972-6n &P Ly hFleTarg. el 36 GuLEISET WHMID 9 IS :

‘ 2,1
verflagl 9nE 15 g9ame 2015 e guie) Qupilpri. SLQUTYEI, Qer @arud 10,000
5. 3,200 @qtivenl_ Fbueronsa|d, O . 1,000-g a&aﬁ]m@u 4,00,000 4,00,000

SQIeues AeTsEne . 5,000 sfleysearts, aumwrear aufl cuybi9el BHs)

Qupliul g

7
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22

Yereumeuanainenn Qanen () QLongs FbLIeTD Haumsd ()s.

SuliLee sbuatd @5, 25,000 wirsLd

- Gumenav " . 15,000
<15 cflepecs Uity - 12,500 wigid (Lendl sqienas@ L L g)
BT Uiy . 1000 wrss8ps
LgrQgél Lg 5. 1,500 wrasHies
WDESSIeuLI |__;u¥ i . 200 torrg,Lb
Qawiapenpwdm Lig. 5."300 mgid
Llljﬂ'éil_fl' Litg _ ¢m. 400 g
GOLL Lig. . 500 wosLs
&S euLena . 5,000 LOTLD
Gaoflsams L . 2,000 LissAHeE

venfl Quppeur, eureaswns WIsL . 7,250 Qsaisgdpr. Sleuit

AMP &, Gumumelléd uamflurpmidipm. sjeui . 1,50,000 aflpLienar
Qe1g) 2ifled 7.25% sflagen QU

Calculate Gross Annual Value from the following :

Particulars House 1 | House 2 | House 3
MRV ' | 1,15,000 | 1,20,000 | 1,10,000
FRV 1,10,000 | 1,15,000 | 1,15,000
SR : N.A. 1,11,000 | 1,16,000

Actual rent (AR) with no
unrealised rent and vacancy 95,000 89,000 1,10,000
period

Ol e [H euHLoTeSmS Sar (19 GEeyL.

Slugrigar @ 1 a0 2 B 3
BEITL S aum_eng oSy 1,15,000 | 1,20,000 | 1,10,000
Blumunres eum_ens wliy 1,10,000 | 1,15,000 | 1,15,000
Bevawinar aim_es N.A:. | 1,11,000 | 1,16,000
Qupp eum_ang (srelluldanss
b QuPTs uTL s euensuded) | 95,000 | 89,000 | 1,10,000
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16. Mr. Kumar is employed in ABC Ltd., Bangalore. He-gets the

17.

following emoluments.

Basic salary ' Rs. 12,500 per month
DA (Forming part) . Rs. 6,000 per month
Bonus Rs. 5,000

Fees Rs. 1,000

2%"commi_ssion on turnover achieved Rs. 1,50,000

"HRA - : Rs. 7,250 p.m. (rent paid
' Rs. 6,400 p.m.)
EA - Rs. 4,000 p.m:

Calculate Gross salary.

ABC L., Quiiisen il Hm. G uefllyAdomi. st QubH saBuid
e (mromy :

Silg LILIenL FOLIGTLD m. 12,500 wrsb

2iseilaeliLig (SDUTSSIL 6 giqwig)  e5. 6,000 wrgid

Gumameiv . @5. 5,000

5|'_|_am’£_> | o em. 1,000

2% aﬁ]_gbumeﬁ siflagew ~ - 5. 1,50,000

(B eum_ensiy Lig. 5. 7,250 Wrgid (aum_ans

5. 6,400 rsib)
.(Sa;eTﬂé;Gm;lLl Ullg- e5. 4,000 wrsib

Qevclaungdenens Qaran (), Qorss sbUMsSman sarad (s

From the following, calculate Net Annual Valﬁe.

Municipal rental value ~ Rs. 28,000
Fair rental value FRV- Rs. 34,000
Standard rent Rs. 35,000
Actual rent (AR) " Rs. 3,000 per month

Municipal tax Rs. 1,500 paid by the owner.
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18.

Bar parrh euorargdaar, eneumueupenn meigs samt By &s.
BarmS) QUML_en& wdiny . 5. 28,000

Blwmuwres aurL_ens L ep. 34,000 .

Hlenewrer eur._ans @5. 35,000

Qupm eurL_ens 5. 3,000 wrssHHE

pa7r8 eufl @p. 1,500 2 Aenowireryme) GegugsliulLg|.

Mr. A owns 5 houses, one in Chennai, one in Mumbai, one in
Kolkata and two in Delhi. All houses are let out except: that in
Delhi. One house in Delhi, whose MRV is Rs. 2,80,000 and
other house whose MRV is Rs. 3,50,000 is occupied by Mr. A and
Mrs. A. :

The details of the other houses are as follows :

Particulars | Mumbai | Chennai | Kolkata

MRV 2,00,000 | 2,20,000 | 4,00,000
FRV 1,85,000 2,25,,000 3,75,000
SR N.A. 2,15,000 N.A.

The house in Mumbai is let out at a monthly rent of Rs. 20,000
p.m., Chennai at Rs. 25,000 p.m. and Kolkata at Rs. 38,000 p.m.
It is usual practice to charge 10% as municipal.tax, out of total
municipal tax 50% is paid by the tenant. Calculate Net Annual
Value. ‘

Hm. A ' aatuaIpEE Osatameanid om IR, apweuuien g6,
QarisssTele gany, 1odlio B SGs6T orar Gonsh 5 s
o aramer. goewllgidrer @@ eSligDE, BEITLS eumiens Wy
. 2,80,000 ifled . A @queﬁmnr’r. igoeuflgnerar wH@mmm a5 b
BaTL& eurLans iy m. 3,50,000 o SHmwod. A o dremm.
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wpm eI@Eseflern elughasdr Kereumonm :

eStLugRIgSET LenL Q&een e Qaroassm
B&ITL&l eum_ens oLy 2,00,000 2,20,000 4,00,000
Bluruwrer eur_ens wdy 1,85,000 2-,2/5,000 3,75,000
Blenaowiran eum_ens N.A. 2,15,000 N.A.

19.

20.

21.

Wpeauuiler o drer oSG WTHDL @aMES . 20,000 &E anmsss
el iu_@érang). Qearenean 65 WTHL @eMMiGE 5. 25,000 &@LD wHmID
g0sssT il 5. 38,000 &EL . wWMLmEES &'LuuL@ﬁmg.
grgmyemons Byl S eufl 10% @b Qo aur_essrrr 50%
Cegsgdlpri flay am® wHliGmeans srans.
Explain the features of PAN.
PAN-én genenivseaner efeufiss.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain the features of Income.

aupLOTETSSG Semen oS aT 6llaTd 5.

From the following calculate Gross sélary :

Basic salary Rs. 25,000 p.m.

Bonus Rs. 15,000

DA ' Rs. 12,500 p.m. (entering service
' benefits) ‘

CCA Rs. 1,000 p.m.

Project allowance : Rs. 1,500 p.m.

Medical allowance Rs. 200 p.m.

Non-practicing allowance Rs. 300 p.m. -

Proctor allowance Rs. 400 p.m.

Family allowance Rs. 500 p.m.

HRA ' Rs. 5,000 p.m.

EA Rs. 2,000 p.m.

The employee pays a rent of Rs. 7,250 p.m. He works in
AMP Ltd., situated in Bhopal. He has achieved a turnover of
Rs. 1,50,000, out of which, he is entitled to a commission
of 7.25%.
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